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!���� (xn)n∈N, (yn)n∈N ��� ��	�
���� �	���	����� +�
� ��
�� ����, ������
�� 	�
��� ��	� 	������� ��� F 	� � �	��� 

��	��
�� ���
�	
� 
� [0, 1]2% ��� �&-��

.�� �� ��
��� ���� � ������
� (xn)n∈N 
� �
	��� 	� [0, 1[ 	� ��	� �
 �� ����
	� ��� 
��� 	�

lim
N→∞

1

N

N∑
n=1

1[a,b[(xn) = b− a

�
� ��� 	�������� [a, b[⊆ [0, 1[� !���� 1E ���
��� �� ����� ��� 	��	
��
� ���
�	
�

� ��� ��� E� /� ����� �
 �-� &�� ��� �� ������� �������
�� 
� ��� ���0�
��
* ����	�� T 
� ��� ��	� 	������� 	��
 	����� 	� 
����� ��	�
�� �	���	���	
� ���$
����	�� +�
� ��
�� ������, 	� ��� ������
�

(
T (xn)

)
n∈N

	� ���� !������� (xn)n∈N

	� � ���� ������
� 	� [0, 1[�
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2� ������ 
�� ���� ��� ����� 
� ��� ������
�	
 �����	
�� 
� ���� ������ +&,
	� ���	������ �
 3�� 
��	��� �
���� �
� 4	�����$#�	���0�� 	�������� 
� ��� �
��∫ 1

0

∫ 1

0

F (x, y)�C(x, y), +�,

!���� C 	� ��� ������
�	
 �	���	���	
� ���
�	
� 
� ��� ������
� (xn, yn)n∈N ���
	� ������� �������� �
 �� 

���� +��� ���,� 5
�� ���
	����� � �$

���� 	� � ���
�	
�
C : [0, 1]2 → [0, 1] ���	���	�� ��� �
��
!	�� ��
����	��6 �
� ����� x, y ∈ [0, 1]

C(x, 0) = C(0, y) = 0,

C(x, 1) = x ��� C(1, y) = y,

��� �
� ����� x1, x2, y1, y2 ∈ [0, 1] !	�� x2 ≥ x1 ��� y2 ≥ y1

C(x2, y2)− C(x2, y1)− C(x1, y2) + C(x1, y1) ≥ 0.

*� 	��
����� ��
����� 
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������ !�	
� ����� ��� �"�����	
� 	� +�, ����	�����
��� !�	
� 
�� �� ���	��� ��
� ��� ��
�� ��
����	��� 	� ���� ����� 

���� C
	���
�� � �
���� ��

����	
 ������� γC +����� 
� ���
��� �� γ !��� ����� 	� �

�
��	�	�	�� 
� 

����	
�, 
� ��� ���������� ���
� ([0, 1]2,B)� �	� ��� �
�����

γ
(
[a, b]× [c, d]

)
= C(b, d)− C(b, c)− C(a, d) + C(a, c).
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��� ��� B ⊂ [0, 1]� γ([0, 1]×B) = γ(B× [0, 1]) = λ(B)�
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!���� λ 	� ��� .������� ������� 
� [0, 1]� �
��������� �
� ����� �
���� ��

����	

������� μ� ����� �"	��� � 

���� C �	��� ��

C(u, v) = μ
(
[0, u]× [0, v]

)
.
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� ��� ��3�	�	
� 
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�� �
�	
� ���� � ��
���	�	�� ������� 
� ([0, 1]2,B)
!	�� ��	�
�� ����	���� 	� �
���� ��
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���	
� !� !�	��
∫ 1

0

∫ 1

0
F (x, y)�C(x, y) �
� ��� 	�������

!	�� �����
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 ��� ������� γ�
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���
�	
� 
� � ����
� ��
�
� !	�� ��	�
�� ����	����� 5
�� ���
	����� 

��	���
� ����
� ��
�
� (X1, X2) ��� ����
�� ���� 	�� ����	���� F1 ��� F2 ��� 

��	�$
�
��� 8� �����	�� ��� ��
���	�	�� 	������� ������
����	
� �
 ��
� 

��
�����
��� ����
� ��
�
�

(U1, U2) =
(
F1(X1), F2(X2)

)
��� ��	�
�� ����	����� ��� 

���� 
� (X1, X2) 	� ���� ��3��� �� ��� 0
	�� 
�$
�����	�� �	���	���	
� ���
�	
� +
��, 
� (U1, U2)6

C(u1, u2) = P (U1 ≤ u1, U2 ≤ u2).

2� ��	� ����	��� ��� �
�	
� 
� 
��	��� 

���	�� 
�� �� ������� .�� μ� ν �� �!
 ��
�$
��	�	�� �������� 
� (R,B)� �
���	�� μ ��� ν ����� 

�����
�	�� �!
 ����
�
���	����� X1, X2 
� R 	� ��
� � !�� ���� X1

�∼ μ ��� X2
�∼ ν� !	��

�∼ ���
�	��
�����	�� 	� �	���	���	
�� ��� 

���� (X1, X2) 	� 
����� � 

���	�� 
� (μ, ν)� 9
!�
	� !� 	���
��
� � 

�� ���
�	
� c(x, y) 
� R× R� ���� ��� ��
���� 
� 3��	��

inf E
(
c(X1, X2)

)
!���� ��� ��	� (X1, X2) ���� 
��� ��� �
��	��� 

���	��� 
� (μ, ν) 	� 
�����
c$
��	��� 

���	�� 
� 5
���$<���
�
�	
� ���� ������
����	
� ��
����
+��� ����� �&'� �'�,� =��	��������� ��	� ��
���� 
�� �� ������ 	� ����� 
� ���$
������

inf

∫
c(x, y)�P (x, y),

!���� ��� 	�3��� ���� 
��� ��� 0
	�� ��
���	�	�� �������� P 
� R × R !	��
����	���� μ ��� ν� 7
� 

���
�	
�� 
� �"������ �	�	�� ��� 

����� �
 ��� ���
��

� 
��	��� ������
�� !� ����� �
 �&>��
���
���
�� ��	� ����� !� 

��	��� ��� ���	������ sup ��
����

sup
{
E
(
c(X1, X2)

) ∣∣X1, X2 

���	��� 
�μ, ν !	��PX1
= μ ���PX2

= ν
}
. +(,

(
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���	��� ���!��� ��	�
�� �	���	���	
���
2� #�
�	
� 1 !� ��� ��	� ����
�
� �
� �
��	�� � ���
	3
 	�����
� 
� ��"	�	)	��
��� 	������� +�,�
* ������ 
�	���	
� �
� 
��
�	�� ��� 
��	���	�� 
� � 
���	���� �
���	
� 	� �����

� ��� �
�	
� 
� c$

���"	��� * ���
�	
� f : X → R 	� 
����� c$

���" 	� 	� ��� �
�����������	
� f(x) = supy{c(x, y) + a(y)}, �
� �
�� ���
�	
� a� ��� ���

	����
c$����	:�����	�� 
� f �� x 	� ���� ��3��� ���
���6

∂cf(x) = {y | f(z)− f(x) ≥ c(z, y)− c(x, y) ∀ z ∈ X}
��� ∂cf = {(x, y) ∈ X × Y | y ∈ ∂cf(x)}�
 �� 
������� ���� y ∈ ∂cf(x) ⇔ ∃ a(= a(y)

) ∈ R ��
� ����

ψy,a(x) = c(x, y) + a(y) = f(x) ��� ψy,a(ξ) = c(ξ, y) + a(y) ≤ f(ξ), +1,

�
� ����� ξ ∈ X� ��� �&'��
��� ���� ��
���� 
� +(, 	� �	��� ��6

I(c) = inf

{∫
h1 �μ+

∫
h2 �ν | c ≤ h1 + h2, h1 ∈ L1(μ) ��� h2 ∈ L1(ν)

}
,

��� 	�� ����� 	� ��� ���	� 
� ��� �
��
!	�� ���
����

������� � +��� 1�� ��
� �&'�,� �
	 c �
 ���� 	��	 c(x, y) ≥ a(x) + b(y) ���

���
 a ∈ L1(μ)� b ∈ L1(ν) ��� �����
 ���	
�
�� �� I(c)� ��
� � ���� (X1, X2)

��	� X1
�∼ μ� X2

�∼ ν �� �� ��	���� c−�������� �
	�

� μ ��� ν �� ��� ���
 ��

(X1, X2) ∈ ∂cf ����

��� ���
 c���� 
! ����	��� f � 
"�� ��
�	�
� X2 ∈ ∂cf(X1) ����

�� ���� �� �!� 

*� ������� �
	���� 
�� 	� ���� ��� �
���	
� 
� ��
���� +�, ������� 
� ��� �	��

� ��� ����	�� ���	���	��

D2 =
∂2F (x, y)

∂x∂y
.

#��
	�� 
���� ���� ���� ������� ����	�� 	� ��� �	��������� �	�� ��
�� ���
�	��� 	�
7	��& ��� 7	�� �� +��� ���,� 2� ����	
����� ��� ����� ��� �
!�� �
���� �
� ��� 3���

��� ��� �	��� ���
	���� �� ��� 7�?
���$@
�:�	�� �
����� !�	�� 	� ��� ��

��

��� ��� ����
�� ��
�	�� � 
�	���	
� ��� ���
��� �� �
 3�� ��� 

�����
��	��
�"������
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(0, 0) (1, 0)

(0, 1) (1, 1)

������ ��

D2 > 0 Y

D2 > 0

D2 < 0

(0, 0) (1, 0)

(0, 1) (1, 1)

������ 	�

2� ��	� ����� !� ��"	�	)� +�, 	� ��� ���
	�� �	����	
� ���
�	��� 	� 7	�� ( ��
� ��
���� 
� 
��	��� 

���	�� +��� ��-�, ��� !� ��
�	�� � 
�	���	
� �
� ���
	�����
� 
� 7	�� 1�

(0, 0) (1, 0)

(0, 1) (1, 1)

������ 
�

�
�

�
�

�
�

��

�
�

�
�

�
�

��

D2>0

D2 <0

D2>0

D2 < 0

D2 > 0

(0, 0) (1, 0)

(0, 1) (1, 1)

������ ��

/� ����� �� ������	�	�� ��� 

���� !�	
� ��"	�	)�� +�, !��� ��� �	�� 
� ���
��

�� ���	���	�� 
������ �� ���
�	��� 	� 7	�� 1� /� ����� ��� �
��
!	�� 
�	���	
�
��� ���
��� ���

������� �� �
	 �� �����
 	��	 � ������ C(x, y) ��!���#
� 	�
 ��	
����∫ 1

0

∫ 1

0
F (x, y)�C̃(x, y)� �
	 [X1, X2]× [Y1, Y2] �
 �� ��	
� �� �� [0, 1]2 ���� 	��	

C(X2, Y2) + C(X1, Y1)− C(X1, Y2)− C(X2, Y1) > 0 +-,

��� ���� 	��	 ��� 
 
�
 ��	
���� ����	 (x, y) 	�
 ��!
� �
���� �
�� �	� 
 D2 ���

����	��	 ����� ��
� �
 �� 
$

+	, �� D2 > 0� 	�
�

C(x, y) = min
(
C(x, Y2)+C(X1, y)−C(X1, Y2), C(x, Y1)+C(X2, y)−C(X2, Y1)

)
,

+�,
+		, �� D2 < 0� 	�
�

C(x, y) = max
(
C(x, Y2)+C(X2, y)−C(X2, Y2), C(x, Y1)+C(X1, y)−C(X1, Y1)

)
,

+�,
��� 
 
�
 (x, y) ∈ [X1, X2]× [Y1, Y2]�

-
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��	� ������ 
�� �� 	���������� �� ��� �
��
!	�� �	
������ !���� ��� ����
�� ⊕
��� 
 	� � 

���� ���� ���� ��� ����� 
� C 	� ���� �
	�� 	� ����� !	�� �
�	�	��
��� �����	�� �	��� �����
�	�����







⊕

(X1, y)

(X1, Y1) (X2, Y1)

(X1, Y2) (X2, Y2)

(x, y)

7	���� ��

(x, Y2)

(x, Y1)

(X2, y)⊕

⊕

⊕⊕

⊕


(X1, y)

(x, Y2)


⊕

⊕

(x, Y1)

(X2, y)

(X1, Y1) (X2, Y1)

(X1, Y2) (X2, Y2)

(x, y)

7	���� -�

2� 
���� �
 ����� ��	� 
�	���	
� �
 ��� 
��� ���
�	��� 	� 7	�� 1 !� �	�	�� ���
��	� ������ [0, 1]2 	��
 [0, x1]× [0, 1]� [x1, x2]× [0, 1] ��� [x2, 1]× [0, 1]� �� 
�� ��
���� 	� 7	�� ��
����� �
��
!	�� ��� ��
�� ���������� 	� x ∈ (0, x1)∪ (x2, 1)� !� ����� +�, 	� ���
���� !�� �� 	� 7	�� - ��� 	� x ∈ (x1, x2)� !� ����� +�, �� 	� 7	�� ��

(0, 0) (1, 0)

(0, 1) � (1, 1)

5�,�
	 *�

D2 > 0 D2 > 0

(x, 1) (x1, 1) (x2, 1)
⊕

(x, y)⊕(0, y)

(x, 1)
⊕

(x, y)(x2, y)

�

⊕(x1, y) (1, y)

⊕

⊕ ⊕

⊕
(x, 0) (x, 0)

� �
(x1, 0) (x2, 0)

D2 < 0

(x, 1)
⊕ �

(x, y) ⊕ (x2, y)

�
(x, 0)

⊕

(x1, y) ⊕

�
����������� ��� �
��
!	�� ���
��� �
��� �����

�
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������� �� �
	 0 < x1 < x2 < 1 ���

F (x, y) =

⎧⎪⎪⎨
⎪⎪⎩
F1(x, y) �� x ∈ (0, x1),

∂2F1(x,y)
∂x∂y > 0,

F2(x, y) �� x ∈ (x1, x2),
∂2F2(x,y)

∂x∂y < 0,

F3(x, y) �� x ∈ (x2, 1),
∂2F3(x,y)

∂x∂y > 0.

+',

��
� 	�
 ������ ��!���#���
∫ 1

0

∫ 1

0
F (x, y)�C̃(x, y) ��� 	�
 ����

C(x, y) =

⎧⎪⎪⎨
⎪⎪⎩
min

(
x, h1(y)

)
�� x ∈ [0, x1],

max
(
x+ h2(y)− x2, h1(y)

)
�� x ∈ [x1, x2],

min
(
x− x2 + h2(y), y

)
�� x ∈ [x2, 1],

+;,

��
�
 h1(y) = C(x1, y)� ��� h2(y) = C(x2, y)�

*� !� !	�� ��� ���
!� ��	� ������ 	���	�� ���� 	� �� 	���� �	����	
� ��� ��
����
	� ����
�� �
 ��� ������	���	
� 
� ��	����� ���
�	
�� h1 ��� h2�

8��
�� �
	�� 
� !� ���� �
 ������	�� �C(x, y) �
� ��� ���
	�� �	����	
� 
� +;,�
7
� ��	� ����
� ��� �� 

��	��� ��� ��
�������

(x, y) (x+ �x, y)

(x, y + �y) (x+ �x, y + �y)

������ 
�

�
�
�
�
�

��

(x− �x, y) (x, y)

(x− �x, y + �y) (x, y + �y)

�
�

�
�

�
��

������ ��

��� ��� A ��
� ��� 

���� 	���
�� A �������� !�	
� ��� ��3��� ��

γC(�x, �y) =C(x, y) + C(x+ �x, y + �y)− C(x, y + �y)− C(x+ �x) +&>,

���

γC(�x, �y) =C(x− �x, y) + C(x, y + �y)− C(x− �x, y + �y)− C(x, y), +&&,

!���� (�x, �y) ������ �
� ��� 	�3�	���	��� ��
������� ��
� 7	�� ' ��� 7	�� ;�

/� 

��	��� ��� ����� ���	
�� 	� 7	�� � !���� ��� ��

�� ���	���	�� 
������
�	�� �����������

+	, x ∈ (0, x1)�
���� x = h1(y) ��� C(x, y) = min

(
x, h1(y)

)
� ���� �� +&>,

γC(�x, �y) = h1(y) +
(
h1(y) + h′1(y)�y

)− h1(y)− h1(y) = h′1(y)�y. +&�,

�
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+		, x ∈ (x1, x2)�
���� x = x2 − h2(y) + h1(y) ��� C(x, y) = max

(
x + h2(y) − x2, h1(y)

)
�

.�� �� 
������ ����

C(x, y + �y) = max
(
x+ h2(y + �y)− x2, h1(y + �y)

)
= max

(
h1(y) + h′2(y)�y, h1(y) + h′1(y)�y

)
= h1(y) + h′2(y)�y,

�	�
� �
� ����� (x, y) ��
� ���� x+ h2(y)− x2 = h1(y) !� ����

�x

�y
+ h′2(y) = h′1(y) ���

�x

�y
< 0.

#	�	������

C(x− �x, y) = max
(
x− �x+ h2(y)− x2, h1(y)

)
= max

(
h1(y)− �x, h1(y)

)
= h1(y),

�	�
� �x > 0� ���� ��
� +&&, !� ����

γC(�x, �y) = h1(y) +
(
h1(y) + h′2(y)�y

)− h1(y)− h′1(y)�y − h1(y)

=
(
h′2(y)− h′1(y)

)
�y. +&(,

+			, x ∈ (x2, 1)� ����

x = x2 − h2(y) + y ��� C(x, y) = min(x− x2 + h2(y), y).

.�� �� 
������ ����

C(x+ �x, y + �y) =min
(
x+ �x− x2 + h2(y + �y), y + �y

)
=min

(
y + �x+ h′2(y)�y, y + �y

)
= y + �y,

�	�
� �
� ����� (x, y) ��
� ���� x−x2+h2(y) = y !� ���� �x+h′2(y)�y = �y�
5
��
����

C(x, y + �y) =min
(
x− x2 + h2(y + �y), y + �y

)
=min

(
y + h′2(y)�y, y + �y

)
= y + h′2(y)�y,

�	�
� h′2(y) ≤ 1 ���

C(x+ �x, y) = min
(
x+ �x− x2 + h2(y), y

)
= min(y + �x, y) = y,

�	�
� �x > 0� ������
�� !	�� +&>, !� ���	�� ��

γC(�x, �y) = C(x, y) + C(x+ �x, y + �y)− C(x, y + �y)− C(x+ �x)

= y + y + �y − (y + h′2(y)�y)− y =
(
1− h′2(y)

)
�y. +&1,

'
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*��
������ ��� ������� γC 
� ��� 	�3�	���	��� ��
������� ��� ���
� dC(x, y) 	�
�	��� ��

γC(�x, �y) =

⎧⎪⎪⎨
⎪⎪⎩
h′1(y)�y 	�x ∈ [0, x1], x = h1(y),(
h′2(y)− h′1(y)

)
�y 	�x ∈ [x1, x2], x = x2 − h2(y) + h1(y),(

1− h′2(y)
)
�y 	�x ∈ [x2, 1], x = x2 − h2(y) + y.

+&-,
 �� ��"� ���� 	� �
 	����	�� �	����	
�� 	� !�	
� C 	� 	����� � 

�����

������� �� ��
 ����	��� C(x, y) �
��
� �
 +;, �� � ������ �� ��� ���
 ��

+	, h1(y) ��� h2(y) ��
 ����
�����%

+		, h1(0) = 0� h2(0) = 0%

+			, h1(1) = x1� h2(1) = x2%

+	�, 0 ≤ h1(y) ≤ h2(y) ≤ y%

+�, 0 ≤ h′1(y) ≤ h′2(y) ≤ 1�

B � 
 
 �� ��� ����
���� 
� ��� ��

� 	� �� �
��
!�6 !� 3��� ��
�� ��� ��
������


��	�	
� �� ��
!	�� ���� 	� C 	� � 

����� ���� ��
����	�� +	,$+�, ��� ���	�3���
���� !� �"��
	� ����� ��
����	�� �
 ��
! ���� C 	� � 

�����

.�� C(x, y) �� � 

���� ��� h1(y) = C(x1, y) ��� h2(y) = C(x2, y)� B�
�$
���	�� +	C+			, ��� ����	����
�!���� 2� 
���� �
 ��
�� +	�,� ��� �� 

��	��� ���
��
������ [x, 1]× [0, 1]� #	�
� C(x, y) 	� � 

����� !� ����

C(x, 0) + C(1, y1)− C(x, y1)− C(1, 0) = y1 − C(x, y1) ≥ 0, +&�,

��� ���� y1 ≥ C(x, y1)�

/� ��

��� 	� � �	�	��� !�� �
 ��
�� (v)� .�� �� 

��	��� ��� ��
������

[x, 1]× [y1, y2].

7
� �� ���	����� 

���� C(x, y) !� ����

C(x, y1)+C(1, y2)−C(x, y2)−C(1, y1) = C(x, y1)+y2−C(x, y2)−y1 ≥ 0. +&�,

����
y2 − y1 ≥ C(x, y2)− C(x, y1)

��� ���� C′(x, y) ≤ 1 ���� ��	� 	���	�� h′(y) ≤ 1 ���� �
� h(y) = C(x, y)
+��� ���
 �&1� ���
��� ������� ,� 7�������
��

h′1(y) ≤ h′2(y)

�	�
� �
� ����� (x, y) ��
� ���� x+ h2(y)− x2 = h1(y) !	�� x ∈ [x1, x2] !� ����
�x
�y + h′2(y) = h′1(y) ���

�x
�y < 0�

;
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 � ��� 
���� ����� 	� �
��
!� ��
� (v) ��� +&-, ���� γC(�x, �y) 	� �
������	��
�
� ����� (x, y) ∈ [0, 1]2 ��� �� +;, ���� C(x, 0) = C(0, y) = 0� ���� C(x, y)
	� � �	���	���	
� ���
�	
�� /� ���� �
 ��
! ���� C(x, 1) = x ��� C(1, y) = y
�
� ����� (x, y) ∈ [0, 1]2� 2����� !� ����

C(x, 1) =

⎧⎪⎪⎨
⎪⎪⎩
min

(
x, h1(1)

)
= min(x, x1) = x 	� x ∈ [0, x1],

max
(
x+ h2(1)− x2, h1(1)

)
= max(x, x1) = x 	� x ∈ [x1, x2],

min
(
x− x2 + h2(1), 1

)
= min(x, 1) = x 	� x ∈ [x2, 1].

7
� x = 1 !� ����

C(1, y) = min
(
1− x2 + h2(y), y

)
= y. +&',

#	�
� h2(1) = x2� ���� +&', 	� ���	������

1− y ≥ h2(1)− h2(y), +&;,

!�	
� �
��� ����� �	�
� h2(1)− h2(y) = (1 − y)h′2(y
∗) �
� �
�� y∗ ∈ (y, 1) ���

��� ���	���	�� ���	�3�� (v)� �

���
��� 1 	���	�� ��� �
��
!	�� �
���� 
� 
���	���� ���
�	
�� h1 ��� h2�

h1(y) =

{
y 	� y ∈ [0, x1],

x1 	� y ∈ [x1, 1],
h1(y) =

{
0 	� y ∈ [0, 1− x1],

y − (1− x1) 	� y ∈ [1− x1, 1],

h2(y) =

{
y 	� y ∈ [0, x2],

x2 	� y ∈ [x2, 1],
h2(y) =

{
0 	� y ∈ [0, 1− x2],

y − (1− x2) 	� y ∈ [1− x2, 1],

!����
h1(y) ≤ h1(y) ≤ h1(y), h2(y) ≤ h2(y) ≤ h2(y). +�>,

9
!� !� ������ �
 ��� 	������� +�,�

������� �� �
	 �� �
��
 � ����	��� G �


G :=G(y, h1, h2, h
′
1, h

′
2) =

= F1

(
h1(y), y

)
h′1(y) + F2

(
x2 − h2(y) + h1(y), y

)(
h′2(y)− h′1(y)

)
+ F3

(
x2 − h2(y) + y, y

)(
1− h′2(y)

)
. +�&,

&� h1, h2 ��!���#

∫ 1

0
G�y ��� ��	���
 ��
��
� '� 	�
�

max
C(x,y)− ������

∫ 1

0

∫ 1

0

F (x, y)�C(x, y) =

∫ 1

0

G�y. +��,

&� ��	� 	�
� �
 ���
 �� 
 	�
 ��������� ��
"����	


max
C(x,y)∈C

∫ 1

0

∫ 1

0

F (x, y)�C(x, y) ≤
∫ 1

0

G�y. +�(,

&>
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��
 ����� C �� 	�
 �
	 �� ��� ������� �� 	�
 ���� +;, ��	� h1� h2 ��������� 	�


������	���� �� ��
��
� '�

B � 
 
 �� .�� F �� � ���
�	
� ��3��� 
� [0, 1]2 ��
� ���� D2 = ∂2F (x,y)
∂x∂y 
������

	�� �	�� �� 	��	
���� 	� 7	�� 1� ���� ��� �!
$�	����	
��� 4	�����$#�	���0�� 	�$
������ 
� F !	�� �����
� �
 ��� 

���� C ��3��� 	� +;, 	� �	��� �� �
��
!�∫ 1

0

∫ 1

0

F (x, y)dC(x, y) =

∫ 1

0

F1

(
h1(y), y

)
h′1(y)�y

+

∫ 1

0

F2

(
x2 − h2(y) + h1(y), y

)(
h′2(y)− h′1(y)

)
�y

+

∫ 1

0

F3

(
x2 − h2(y) + y, y

)(
1− h′2(y)

)
�y +�1,

=

∫ 1

0

Gdy . +�-,

#	�
� ����� ��� �������	
�� 
� ���
��� 1�� C 	� 	����� � 

����� ��� �����$
������	
� ��
� ���
��� (� 	���	�� 
��	���	��� ��� ��

�� ��������� 	� 
��	
���
�	�
� ��� 
���� C 	� � ������� ��� �
 ���	�	
��� �����	
�	
��� 
� 
���	���� ���
�	
��
h1� h2� �

���	�
 �� 9
�� ���� �
 

����� �"������ 
�
∫ 1

0
G(y, h1, h2, h

′
1, h

′
2)�y !� 
��

����� 
��
���� 
� ���	��	
�� +
� ��;� �� ((�,� 2� ����	
����� 	� (h1, h2) ��� �"�����

�
� ��� 	�������
∫ 1

0
G(y, h1, h2, h

′
1, h

′
2)�y� ���� (h1, h2) ���	��� ��� =����$.�������

�	:�����	�� �����	
��

∂G

∂h1
− �

�y

∂G

∂h′1
= 0 ,

∂G

∂h2
− �

�y

∂G

∂h′2
= 0 . +��,

��� �
���	
� (h1, h2) �
 +��, ��"	�	)��
∫ 1

0
G(y, h1, h2, h

′
1, h

′
2)�y 	�

∂2G

∂h′1∂h
′
1

≤ 0,

∣∣∣∣∣
∂2G

∂h′
1∂h

′
1

∂2G
∂h′

1∂h
′
2

∂2G
∂h′

2∂h
′
1

∂2G
∂h′

2∂h
′
2

∣∣∣∣∣ ≤ 0. +��,

���	�
 �� 7�
� ��� 
��	��� 

���� !	�� �����������	
� +;, ��� ��� ��
�$
���	�� 
� h1 ��� h2 ��
� ���
��� 1� !� 
�� ���	�� ��� �
���	
� 
� ��� ��
�$
��� 	� ��� �

������� 
� 
��	��� 

���	��� �� !���� 9
�	
� ���� �
� x ∈ [0, x1)�
(x, y) 	� ������ �
 (h1(y), y)� *


��	�� �
 ���
��� 1� h1 	� �
�
�
�� 	�$

����	�� ��� ���	�� �� 	������ g1� 7
� x ∈ [x1, x2)� !� ���� (x, y) 	� ������

&&
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�

(
x2 −

(
h2(y) − h1(y)

)
, y
)
� !���� x2 −

(
h2(y) − h1(y)

)
	� �
�
�
�� ��
����$

	�� 	� y !	�� 	������ ���
�	
� g2� 7	������ �
� x ∈ [x2, 1]� !� ���� (x, y) �→(
x2 + y − h2(y), y

)
� !	�� x2 + y − h2(y) 	�
����	�� 	� y ��� 	������ g3� �����$

�
�� !� 
�� 	����	�� ��� 
��	��� 

���	��
(
U,Γ(U )

)
�
� U ��	�
���� �	���	�����


� [0, 1] ���

Γ(x) =

⎧⎨
⎩

g1(x), x ∈ [0, x1),

g2(x), x ∈ [x1, x2),

g3(x), x ∈ [x2, 1].

"� � #����$� � !����� �� � %�������

.��

F (x, y) =

⎧⎪⎨
⎪⎩
F1(x, y) =

x
x1
y, x ∈ (0, x1),

F2(x, y) =
x2−x
x2−x1

y, x ∈ (x1, x2),

F3(x, y) =
x−x2

1−x2
y, x ∈ (x2, 1),

!	�� x$

��
���� �� ��
!� 	� 7	�� &>�

0 1x1 x2

x
x1

x2−x
x2−x1

x−x2
1−x2

������ ���

�
�
�
�
�
�
�
�
�
�
�
�
�
��
�
�
�
�
�
�
�
�
�
�
�
�
��
�
�
�
�
�
�
�
�
�
�
�
�
�

�
!���� ��� 

�����
�	
� 
� G ��
� +�&,� !� 	����	��

F1

(
h1(y), y

)
h′1(y) =

h1
x1
yh′1,

F2

(
x2 − h2(y) + h1(y), y

)(
h′2(y)− h′1(y)

)
=
h2 − h1
x2 − x1

y(h′2 − h′1),

F3

(
x2 − h2(y) + y, y

)(
1− h′2(y)

)
=
y − h2
1− x2

y(1− h′2),

&�
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��
� ���� G ����� ��� �
��

G =
h1
x1
yh′1 +

h2 − h1
x2 − x1

y(h′2 − h′1) +
y − h2
1 − x2

y(1− h′2). +�',

��� ���

	���� =����$.������� �����	
�� ��� �	��� ��

∂G

∂h1
− �

�y

∂G

∂h′1
=
h′1
x1
y − h′2 − h′1

x2 − x1
y − h1

x1
+
h2 − h1
x2 − x1

= 0, +�;,

∂G

∂h2
− �

�y

∂G

∂h′2
=
h′2 − h′1
x2 − x1

y − 1− h′2
1− x2

y − h2 − h1
x2 − x1

+
y − h2
1 − x2

+
y

1− x2
= 0. +(>,

9
!� ���	�� +�;, ��� +(>, ��� ����	���	�� ��� ��� �� 1−x2

y !� ���

h′1

(
1− x2
x1

)
+ h′2 =

h1
y

(
1− x2
x1

)
+
h2
y

− 1. +(&,

5���	��	
��	
� 
� +�;, !	�� (x2−x1

y ) �	���

h′1

(
x2 − x1
x1

+ 1

)
− h′2 =

h1
y

(
x2 − x1
x1

+ 1

)
− h2

y
. +(�,

#���	�� �� +(&, ��� +(�, !� 3��

h′1 =
h1
y

− x1 +((,

��� ���
�

h′2 =
h2
y

− x2. +(1,

��� ������� �
���	
� h(y) 
� ��� �	:�����	�� �����	
�

h′ =
h

y
− x, +(-,

��� ��� �
��

h(y) = c y − xy log y. +(�,

7�
� ��� �
������ 

��	�	
�� h(1) = x ��� h(0) = 0� !� 3��

h(y) = xy(1− log y) ��� h′(y) = x(− log y).

����

h1(y) = x1y(1− log y), h2(y) = x2y(1− log y), +(�,

!�	
� ���
��������� �
 �
� ���	��� ��� 

��	�	
� +�, 	� ���
��� 1�

&(
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7	������ G 	� �	��� ���
���

G = y2 log y

(
x2

1− x2

)
+ y2(log y)2

(
x2

1− x2

)
+ y2

!�	
� �	���� ��� ����� ∫ 1

0

G�y =
x2

1− x2

(
− 1

27

)
+

1

3
. +(',

 � ��� 
���� ����� 	� h1(y)=x1y ��� h2(y)=x2y� ���� G=y2 ���
∫ 1

0
G�y= 1

3 �

���� +(�, �
�� �
� ��"	�	)�
∫ 1

0
G�y�

9
�� ���� �
� F (x, y) = f(x)y� !	�� f(x) ��	�
�� �	���	���	
� �������	�� ���
+������, !� ����

max
xn,yn ��� ����

lim
N→∞

1

N

N∑
n=1

f(xn)yn = max
C(x,y)−��	�
�

∫ 1

0

∫ 1

0

F (x, y)�C(x, y),

+(;,

max
xn−���,Φ−����	�

lim
N→∞

1

N

N∑
n=1

f(xn)Φ(xn) = max
Φ−����	�

∫ 1

0

f(x)Φ(x)�x. +1>,

���� +1>, 	� 	� ������� ������� ���� +(;,� 8� ��� �
�
����� (� �
� ������ f(x)
!� ����

max
Φ−����	�

∫ 1

0

∫ 1

0

f(x)Φ(x)�x =
1

3
. +1&,

������
�� 	� 
�� �	����	
� !� ����
∫ 1

0

∫ 1

0
F (x, y)�C(x, y) ≥ 1

3 �

���	�
 �� ��� �"����� �
	��� 
�� ��� ��3
	��
	�� 
� ��� ���	��	
��� �
���$
���	
� 	� ��� ������� 

���"�� /��� ��"	�	)	�� +�, 	� 	� ������	�� �
 �������� ���
��	�
�� �	���	���	
� ��
����� 
� ��� ����	����� 2� ��� �
������	
� �	� ��� ���
$
�	
� +�&,� !�	
� ��� �
 ��� ��
���� ��
� ��� 
��
���� 
� ���	��	
��� ��	� 

�����	��
	� �
� ������� ����
�� ��� ��� ��"	�	)��	
� ����� ���
� 
��� �	:�����	����
h1, h2�  � ��� 
���� ���� ��� 
��	��� 

���� C 	� +;, !	�� h1(y) = C(x1, y)
��� h2(y) = C(x2, y) �
�� �
� ���
�
� ��� ��

������ ��
����	��� !�	
� 	�$
��	�� ���� !��� �
��	�� +�&, 
�� �
�� �
� ��
�����	�� ��� �� ����� �
��� �
�
+�,� ��� ���� ����
�	�� �������� ���� !��� ��"	�	)	�� +�&, 
��� �	:�����	����
���
�	
��� !�	
� ���3�� ��� 

��	�	
�� ������ 	� ���
��� 1� 
�� 	� ������� ���	���
� �
!�� �
��� �
� +�,�

&1



�' (+� (��� , $��(� !' �'!)$ � �!%� !���!$' �&($ *

&� � ��'����� �##����( � ��) ���#!��)

2� ��	� ��
�	
� !� 

��	��� ��� ����	
���� �"�����

F (x, y) = sin
(
π(x+ y)

)
,

!�	
� 	� 
� 	������� �	�
� ��� ���

	���� ��"	�	)��	
� ��
���� 

��� �
� ��
�
���� ���
�� �� ��� �	��
� ����
�
�
�� 	���
��
�� 	� ��� ��� ��
��� 7
� ��	�


�
	
� ∂2F (x,y)
∂x∂y ������� �
 ��� �����	
� 	���������� 	� 7	���� (� 2� �;� �� �����

�
��� �
� ∫
[0,1]2

sin
(
π(x+ y)

)
γ(�x, �y) . +1�,

!�� �
��� �� ����� 
� � �	�
���� ����
"	���	
� ��� ��� @�����	�� *��
�	���
��
� 

��	���
�	�� 
��	�	)��	
�� /� !	�� ��
! ���� ��� ��"	�	)	�� 

���� ��$
���	
���� 	����	3�� 	� �;� 	� 	����� ��� 
�� ��"	�	)	�� +1�,� ��	� ��������� !	��
�� �� 	����	��� 

�������
� 
� ��� �
��
!	�� ������� 2� 	� � ���	��� 
� � ���
���
��
� ��-� ��� 	� ������ 	� �&>� !	��
�� 

������ ��

�� @��� !� 

�������� ���
��

� �� 	�� ��������	
�� ����	�� ����� 
� � 

�����
�	�� ��

������ ��� ��-� �>��
����	�� �
 ��� ����	
��	
� 
� ���
��� &�

������� � +��� (�� ��
� �&>�,� �
	 μ, ν �
 	�
 ������� ���	����	��� �� [0, 1]
��� 	�
 ���	 ����	��� c(x, y) = φ(x + y) ��	� φ : [0, 2] → R� &� ���	������ �


�����
 	��	 φ ∈ C2[0, 1] ��� 	��	 	�
�
 �� k ∈ (0, 2) ���� 	��	 φ′′(x) < 0 ���

x ∈ [0, k) ��� φ′′(x) > 0 ��� x ∈ (k, 2]� &� β ∈ (0, 1) �
��	
� 	�
 ����	��� 	�

φ(2β)− φ(β) = βφ′(β),
	�
�

Γ(x) =

{
β − x, x ∈ [0, β),

x, x ∈ [β, 1],

�����
� �

(
U,Γ(U )

)
��� ���
 �	������ ��������
 ���	����	
� U �� ��	���� c�

��������� �
	�

� P ��� Q�

���	�
 �� 7�
� ��	� ���
��� !� 	����	����� ��� � ��"	�	)	�� 

���� �
�
+1�,� 9������

(
U,Γ(U )

)
!	�� Γ �� ��
�� ��� β = 0.75412 �
��	��

sin(2πβ)− sin(πβ) = βπ cos(πβ).

B � 
 
 � 
 � � � � 
 � � � �� 7
� ��� ����	
��	
� 
� ���
��� & !� ���� � 
���	$
���� c$

���" ���
�	
�6

f(x) = f1(x)I[0,β)(x) + f2(x)I[β,1](x),
!	��

f1(x) = xφ′(β) ��� f2(x) =
1

2

(
φ(2x)− φ(2β)

)
+ βφ′(β).

&-
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7
� 
��
�	�� c$

���"	��� �� 	��	
���� 	� +1,� 	���
��
� �
� ξ ∈ [0, 1]6

ψΓ(x)(ξ) =

{
ψ1(ξ), x ∈ [0, β),

ψ2(ξ), x ∈ [β, 1],

!����

ψ1(ξ) = φ(β − x+ ξ) + xφ′(β)− φ(β),

ψ2(ξ) = φ(x+ ξ)− 1

2
φ(2x)− 1

2
φ(2β) + βφ′(β).

��� 3��� ���� 
� ��� ��

� �
!���� ��� c$

���"	�� 
� f 	� �
 ��
!

ψΓ(x)(x) = f(x) ∀x ∈ [0, 1]

!�	
� �
��
!� ��
� ��� ��3�	�	
� 
� f � ��� ��

�� ���� 

��	��� 
� ��
!	�� ����

ψΓ(x)(ξ) ≤ f(ξ) ∀(x, ξ) ∈ [0, 1]× [0, 1].

*� 3��� !� ���� �
�� ����	�� 
� ��� �

��	
� 
� β� 7�
� ��� ��3�	�	
� 
� β ���
��� ���� ����� ���
��� !� 
���	� ∃τ ∈ (β, 2β) !	�� φ′(τ) = φ′(β)� #	�
� φ 	�


�
��� 
� [0, k) ��� 

���" 
� (k, 2] !� ��� ���� β < k < τ < 2β�
2� ��� �
��
!	�� !� �	��	���	�� �
�� �	����	
���

• 7
� x ∈ [0, β) ��� ξ ∈ [0, β) ��� ���
�	
�� ��� �	��� ��

ψΓ(x)(ξ) = φ(β − x+ ξ) + xφ′(β)− φ(β), f(ξ) = ξφ′(β).
������
�� !� ���� �
 
��
�6

f(ξ)− ψΓ(x)(ξ) = (ξ − x)φ′(β)− (
φ(β + ξ − x)− φ(β)

)
=: F1(x, ξ). +1(,

 ��	
���� F1(x, ξ) = 0 �
� (0, β)� (0, 0) ��� (x, x)� 2� ������� !� ���� ��


�
��	�� 
� [0, k) ��� ��� ��3�	�	
� 
� β� φ(2β) = φ(β) + βφ′(β)

φ(β) + (β + ξ − x− β)φ′(β) ≥ φ(β + ξ − x),

�	�
� β + ξ − x ∈ [0, 2β]� !�	
� ��
��� ���� +1(, 	� �
�	�	���

• 7
� x ∈ [0, β) ��� ξ ∈ [β, 1] ��� ���
�	
�� ��� �	��� ��

ψΓ(x)(ξ) = φ(β − x+ ξ) + xφ′(β)− φ(β) ,

f(ξ) =
1

2

(
φ(2ξ)− φ(2β)

)
+ βφ′(β).

&�
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/� ���� ��� �
��
!	�� �
 �� �
�	�	��6

1

2

(
φ(2ξ)− φ(2β)

)
+ βφ′(β)− φ(β + ξ − x)− xφ′(β) + φ(β)

=
1

2
φ(2ξ) +

1

2
φ(2β)− xφ′(β)− φ(β + ξ − x)

≥ φ(ξ + β)− xφ′(β)− φ(β + ξ − x) =: F2(x, ξ),

!���� ��� �����	�� ��
�� �
��
!� ��
� ��� ��3�	�	
� 
� β ��� ��� 	������	��
�
��
!� ��
� 

���"	�� �	�
� k < 2β ≤ 2ξ�  ������

F2(x, ξ) = 0 �
� (0, ξ) ��� (β, β).

�
 ��
�� �
�	�	�	�� ��� �������� 	� �� �
��
!�� 3����� ��
!

F2(x, ξ = β) ≥ 0 �
� ��� x ∈ [0, β)

��� ��

���� ��
! ����

∂

∂ξ
F2(x, ξ) ≥ 0 �
� ��� (x, ξ) ∈ [0, β)× (β, 1).

.

� ��

∂

∂x
F2(x, ξ = β) = −φ′(β) + φ′(2β − x)

!�	
� 	� )��
 	� (0, β) �"�
��� 	� x = x̂ = 2β − τ < β� #	�
�

0 < φ′′(τ) = − ∂2

∂x2
F2(x, ξ = β)|x=x̂

!� ���� ����

F2(x̂, ξ = β) = φ(2β)− (2β − τ)φ′(τ)− φ(τ) > 0

	� � ��"	���� 	� 	� �
�	�	�� �� 

���"	�� +k < τ < 2β,� �����

F2(x, ξ = β) ≥ 0 �
� x ∈ [0, β).

9
! !� 
�� ���� !	�� 
��
�	�� ��� 	����	
��

∂

∂ξ
F2(x, ξ) = φ′(β + ξ)− φ′(β + ξ − x).

#���
�� β + ξ − x ≥ k� ���� �� 

���"	�� φ′(β + ξ) ≥ φ′(β + ξ − x)�
 � ��� 
���� ���� 	� β + ξ − x < k !� ����

φ′(β + ξ − x) < φ′(β) = φ′(τ) ≤ φ′(2β) ≤ φ′(β + ξ)

�	�
� 2β ≤ β + ξ�

&�
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• �
��	��� x ∈ [β, 1] ��� ξ ∈ [0, β)� ����

ψΓ(x)(ξ)=φ(x+ξ)− 1

2
φ(2x)− 1

2
φ(2β)+βφ′(β), f(ξ)=f1(ξ)=ξφ

′(β),

��� !� ����

ξφ′(β)− φ(x+ ξ) +
1

2
φ(2x) +

1

2
φ(2β)− βφ′(β)

≥ φ(x+ β)− φ(x+ ξ)− (β − ξ)φ′(β) =: F3(x, ξ)

�
 �� �
�	�	��� ��� 	������	�� ����� ��
� 

���"	�� �	�
� 2x ≥ 2β > k�
/� ��

��� �� ���
��� F3(x, ξ) = 0 �
� (x, β) ��� (β, 0)� *� 3��� 3" x = β�
F3(x = β, y) = 0 	� y = 0 ��� y = β� 2� ���!��� !� �����

∂

∂ξ
F3(x = β, ξ) = −φ′(β + ξ) + φ′(β),

!�	
� 	� )��
 	� (0, β) �"�
��� 	� ξ = ξ̂ = τ − β� *��	� ��� �
 

���"	��


� φ 
� (k, 2] !� ���� � ��"	��� 	� ξ̂ ���

F3(x = β, ξ̂) = φ(2β)− φ(τ)− (2β − τ)φ′(τ) > 0,

��
� ���� !� ���� F3(x = β, ξ) ≥ 0 �
� ξ ∈ [0, β)�  � ��� 	����	
� !�
��
! ����

∂

∂x
F3(x, ξ) = φ′(β + x)− φ′(x+ ξ) ≥ 0.

2� x + ξ ≥ k !� ���� ��
� 

���"	�� φ′(β + x) ≥ φ′(x + ξ)� 2� x + ξ < k
!� ���� β ≤ x+ ξ < k ≤ τ < 2β ≤ β + x ��� ������
��

φ′(x+ ξ) ≤ φ′(β) = φ′(τ) ≤ φ′(2β) ≤ φ′(β + x).

• .�� x ∈ [β, 1] ��� ξ ∈ [β, 1]� @���

ψΓ(x)(ξ) = φ(x+ ξ)− 1

2
φ(2x)− 1

2
φ(2β) + βφ′(β) ,

f(ξ) =
1

2

(
φ(2ξ)− φ(2β)

)
+ βφ′(β),

��
� ����

f(ξ)− ψΓ(x)(ξ) =
1

2
φ(2x) +

1

2
φ(2ξ)− φ(x+ ξ) ≥ 0,

	� ���3���� �� 

���"	�� �	�
� x+ ξ, 2x, 2ξ ≥ 2β > k�

/� 
�� 

�
���� ���� ψΓ(x)(ξ) ≤ f(ξ) ∀ (x, ξ) ∈ [0, 1]× [0, 1]� !�	
� �


��$

	�� �
 ���
��� & ��
!� ���� ��� ��
�
�
(
U,Γ(U )

)
�
� U

d∼ U([0, 1]) �	���� ��

��	��� 

���	��� �

&'



�' (+� (��� , $��(� !' �'!)$ � �!%� !���!$' �&($ *

��	
��
������
��� ��� ����
�� !
��� �	�� �
 ����� �� ��
���
�� �������
�
� 

������ 
� ��� �����
�	�� !�	
� ������ �
 
���	�� ��� 	���
�� 	�� ������$
���	
��

5�4� 2�
D ��� 4�7� �	
�� !
��� �	�� �
 ����� ��� #�
��� 

�������� �
� ���	�
�
��	���	�� ���	�� ��� �	�	� 	� 8���	����� 	� 9
������ �>&1�

9%5%9%A�% 

B�C :'DEF� >�G��HI#� D�G 09'+�J� K�G0L0J� M� 0�" ������������ 
�������� �
 �����
���������� ���� 8���� ����� =	�
	�	� �� 6���<7� �
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B<C :%�?D:O�#� ��GJ%A9P-D':K9=Q9%� 8�G8%A#A%9� 5�" �����������������
������ 
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��
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 ���������� 0
���� '�	
�
�����  
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�
�
���� D	���
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��,	
->	
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��� 0�	
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�
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B��C M'�K9 #�� 8�G=+9'A0%� 5�GJU9=D%� ��G9P�JD�#� 0� 6%= �7" �����
 ����

��� 
�� 
�� ����
�
�
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